PROBLEM 8C Add and Subtract
WORD PROBLEMS NAME
Place your answer after the equal sign

1) The toy store placed 4 teddy bears on the top shelf
and added 3 more on the bottom shelf. How many
teddy bears total? 4 + 3 =

2) Snow White was making dinner for the 7 dwarfs.
Some were still cleaning up for dinner and 3 were in the
dining room? How many were cleaning them selfies?
7-3=

- Sneezy, Sleepy, and Happy were in the dining room Doc,
Grumpy, Dopey, and Bashful were washing up.

3) Alladin asked the Genie to create 20 cookies
but he created 9 cookies. How many more
cookies did he have to create? 20 -9 =

4) Tom and Jerry are best friends. Tom had 8
pieces of cheese and Jerry brought 5 more. How
many pieces of cheese did they have? 8 +5 =

5) Pooh is building a house. He has 8 pieces of
lumber and needs 8 more that is the total he will
need? 8+ 8 =




